gr 8 u2 int day 14 TEST review (Wednesday, Sept, 28).notebook October 05, 2022

Up Grade s
1) Evaluate. Show all steps b) 7[2 + (-10)] - 5(2)5“
AN~
a) (-6)(+7) + (4)(-3) & Top . 63) -5 (2_)
W) G Qo)
oF (-59) ¥ o
CATRNC). = —y q
-

3) Fillin the next 3 term. Write the pattern (Where does it start and how do you get
the term)

-2, +10 501250 Iﬁo_-\-_cz‘éo M“\‘\ "9\3 bj ("5)

X(S)

q
2) With the following set of integers, which pair has the greates produé’?

+3,-9, -7, + - ")
3,-0, -7, +6 ():(

()« 1) <GLT) ()% ¢
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. ry warm ups
More Practice 535 D 560 f-l;:? ﬁ%ﬁ.@ %m

& -> SV OO OO POOLOO O0O OOD
1) Model (-7) :§+3) using tiles 0@ opoocco - &2_0
(IxEV
2) Find the quatient a) (20)—(5) b) (+72) + (-8)
) \NAoT
4 -4a)
3) Evaluate 4(-7) - (-2) ~3 _ -u
B4 —> (+W)  H T C
Toe YGE) —EE2D) :-:2 i
10 —C—Z)
(9o -\- 6'7-)

C20 :

4) If Karen and Jim are playing golf and Karen has 5 holes of 1 under

par and 3 holes with 2 above par and 1 hole with 2 under par. Jim's

score is 4 holes 1 under par and 3 holes with 3 above par and 2 holes

with 3 under par. Find each score. Who's is better? o
‘;—-—"

Karen S v7) + (3
SEN+30GL) |¢ gakl) #3263 + AL )

q) s @) + €)
("5\); +6) + ¢2) (\)/ @4_ -6)

* D + (=2 (5

) -
|under Pr ( \>
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2+ [4x(-2x3)-10] € .

3+2(10) + 4 2+ Dux @x3)~1o)
Boto ar [xCe) a"l
) 2+ [C20 7 (o0
2CId —.—'-\ N
3§+V{E>}-'.-q 2.4 [(-a\u\)/ir/(_b)]
3t 5 2+ (34)
) =2
Top = Watt
6377) ~ za-%)

Nl
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el
] <+;z)><< A
(~N+¢-D=-2

B (+2) X (+9)
(T9) $(+9) = +I3

1 1 1 1 1 1 1 1 1

1 1 1 1 1 1

A (1) y (~3)
‘3)'\~("$)‘|'(‘Q) -9

-1

A (+3) x (+7)
G HE)HD)

1 1 1 1 1
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(- Nx(~5)

2(A) (D x(-5) 2
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-1 -1 | 1 1 4 4 ‘ | -1 i R

1 1 1 1 1 1 1 1 1 1 1

- - -1 - A -1 - |-1 A 4
— _

1 1 1 1 1 1 1 ‘ . ) )

L]

)

Take away 5 groups of -7

5 (+10)x (~¢)
’oéfouBSo ~(

<) -4x(+y)

—
e

T 2,772 4 07

d) F6)x (+R)
'Y Qrouds RANA “Do%{ )Lives
= +4 Y
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3. LI- AOU\"S 4 ? ,'OOJQ I)OU\PS;
Temp ckaq__ge = X ()

-16
Tenp atder 40 4(-16)
4 howrs -1
hal (28 ) by ERYx ()
hg, Pos,
A (1 ) oh Hﬁ\( (*R)
%
SN ), (ﬂPX (17 4o
= (‘)3 ? 7,0‘743:(_1;_'
< MK (FRY Lo 2 [z

NKd<) ‘EB d) -%\x(-aa
sollx!3~?l%3 35 4X9 = 3% )

s T

e\ X (+N) -3940
~ I‘) 0



gr 8 u2 int day 14 TEST review (Wednesday, Sept, 28).notebook October 05, 2022

(-32) ><.(*|5)
E 332"(:)23 X ( & r0) + (1-5)
L(_SQX(M)j + (‘3&(1-5') + @) GHo + (-7) (\-S')
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1{ ‘5;‘) X ("\5) 30 9

9Viove Su
~(loxao) +(loxy)+ é")e) i-ﬁXs) o |m;:: ‘f;'
= 30L 4 20 % |50 tlv
AT
< IS \'

= 450
(-32) X (19) = %0
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b-A (-12)x__ =172
()
b _ x(#5)=1%0
+(
N FYIx__=0
O
d) _ =60
*I-(g

a\\éss)x(o

®) (+6)x (=)
1 haves Qr\eno(s ’)-‘-)htI ONQH cach %o
Now much oo Louwr?
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Review for Test

Be able to multiply and divide integers, using;
- models (Tiles)
- number lines (only multiplication on test tomorrow)
- rules for multiplying and dividing

Be able to add and subtract integers using rules
Be able to recognize using models and number lines to add and subtract integers.

Be able to apply the rules for adding, subtracting, multiplying and dividing integers with
order of operations. (BEDMAS)

10 MC
7 Short Response

*Model multiplication with tiles

*Similar to yesterday's warmup (find the pattern, what two number
produce largest product or smallest product)

*similar to today's warmp (Especially word problem)

*Multiply using distributive property Ex) (-21) x (+15) No calculators
* Evaluate multiplication and division

*BEDMAS

10
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Page 97-98 —
ans wer o° Z
#9(a,c...no tiles), #11a, #13a, #16, #20, #21, #22, #23

Oct. 1 —Fest

Test tomorrow???

All solutions to tonight's homework will be
posted on line in this VERY lesson

12
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Q. (+/5)=(43)

October 05, 2022

1

rewrite (__ ) x (-9) = (+306)

1

T

CCIEIEDT Toke awa
JIIEE 4-§rouq>s or~ 9
] 126 =(~9) ="4

CTT

1
-1
1 1
1 _

1

1
1

13
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de 2] nto 7gl‘o

HE2N = (+7)

DI
1
1
1
<

14
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b, &) HJ=< (-2)

-

b grow§ o—e-‘_;
(-6 )

13 ==3)=—,
D = (+y) =+7
ONide M iy 2 araps o 11
) (2%)— W)
Vivide 2% ngg:l:t\)tﬁ' int t -:q,bd
AL, Eodh aroup oill haye -7
N [‘3()\ — ("(93

ONide -30 W & Qroups g —6

26 - )= +5

Tohe orony

15
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. (== (-9 ="I3
Th 13 weeks Tylr il hae
wnthdiaw 65

) w1 1s o heg

A H2)= (=D =B £yolin
b) (BN = (- =+ e L:;b
A =N = @ =- arsLfs-
2 wad = ¢ N=H  er bl

3 AL D)y B S LY

=19 = - %
o (-89)=39  d) (-KL«ELH;L)
;’]\ = l'-'['
Mo\ I8 _ D) +lle _-Y
o /Q’M ’/q%
A T\ - -3 dH 0 -0

b ~ —q

16
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5. Ha L (<12) By (-63)= )

=~ -2
c) W8y~ (#8) dy (-6 = )
=+4 +9

b 12) = -3 =13

She removed candies Sov 2( daus
1 T =~ -4

T hd 12 ang T oithdmen?d each
U)'Q,ek, Hop ,bi)ﬁ 6g'b a‘AI ;WG$—,3
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% -2) < =) =42 -2y =~
=3 = -3= +7] -2(= +3= "7
-2l =) =+3  —2|=+7 =3
—2) = =2] =4 ~2| =+al =~

! -24 =12
RN e

8=t - 21)b) (:5)+(-12)+(:3)  21)c) 18+3[10+(-5)] 21)d) (-16)+ 8[7-(-2)]
= (2)*+6(3) = (5) + () = 18+3(-2) = (-16)+ B7+(+2)]
L _ .
= (-2) + (-18) = (-1) = 18+ (-6) = (-16) + 8[9]
= = = (2) [0
=-23 +12 e
c) 20
22)a) 3(-6) - 3 b)_(-4) + [ (-7) - (-2)]
-7 3 ('3) + (-14) +7
= (18)-3 (-4) + [ (-7) 1 (12)] P
-7
3 (-3)+ (-2)
_ (-18) +(-3) 4) +[ (-5
) = 20
-7 3
-5
. 21 {£9) t9)
-7 3
= 43 =-3 =4

18
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7_"\. o
Ay 425 D4 k)
Yo 4 ()Y ey
+|
Suzghhe
by B4 4a(-2) + 2x D
rq + (-12)4 &3
-+
Core{s Lo s\hee +[ 7 2.
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